(Insert into script)

MG: Over the next few nights Jim and the punk hatch a clever plan as to get Jim and Liz out of this world and back into their own. Well, Jim hatched a clever plan... The punk sat around and was just negative.

P: It’s not possible!

J: Why?

P: (Shows sign 1) the math gives you a negative number from a positive base exponent! Look... (Shows sign 2) any positive base to an exponent always gives you a positive number. It’s not possible, I say!

<Enter Nerd>

N: What’s not possible?

J: Getting a negative number from a positive base exponent.

N: Yeah it is... you just need to use your imagination... or imaginary numbers.

P and J: What?

N: Look... (Shows sign 3) Euler’s number, or e, is defined as this. So... e to the exponent x is this... if we throw an imaginary number into the equation, we get this. And by both the laws of imaginary numbers and the Taylor series, (Shows sign 4) the equation simplifies to this. So... if we put in pi for x, the imaginary number cancels out and we end up with... viola... negative 1!

J: You’re a genius!

N: I know. I’m leaving now to go do some astrophysics... buh-bye!

<Exit Nerd>

J: I’m going to build it now!

MG: After long hours and many headaches of the physics of traveling through space time...

J: e to the pi i power equals negative one!

MG: The night of the big party is finally upon them.

